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Topic:- General Knowledge and Logical Knowledge

1) Study the instructions carefully and find the value for the following:
Here;

+ => Multiply
* => Division
/ => Addition
- => Equal to
==>Minus /

=N &1 IrauTyd® Srera o3 SR e & faw v @i

g

25*5+10=12
1.7

2.38

3.5

4.12

Correct Answer :-

- 38



2) Which was the capital of the Bahamani Sultanate? / EFFFﬁ Yod-d DI IS Bi At A2
1. Bijapura / EﬂGITER

2. Gulbarga / ﬂFIEITﬁ

3. Cannannore / UU[X

4. Oudh / 3H{dY

Correct Answer :-

* Gulbarga / e |
3) Saraswati and Khan are tributaries of river / TR Gﬁ? T fpast He P qﬁ?ﬁ%"
1. Narmada / '—-lfla'l

2. Yamuna / JH-T
3. Chambal / T¥d¢]

4. Shipra / o

Correct Answer :-

« Shipra/ Byl

4) If MOZART is coded NNAZSS, then how is KATHMANDU coded? / gfd MOZART PI NNAZSS o

PifSd frar oI1ar 8, @ KATHMANDU & &8 $ifSd fhar S
1. LBUGNZOCV
2. LZUNGZOCV
3. LZUNGZOCV

4. LZUGNZOCV

Correct Answer :-
o LZUGNZOCV

5) The construction of Taj-ul-Masjid Mosque was started by / qTo1-Sd-AfRTg AfIG BT fAwtor sq%?
SRT IR foar Tam ot

1. Sultan Shah Jehan Begum / e QMg STgT &TH

2. Babar / d[eR

3. Humayun / A,

©)



4. Aurangzeb / RIS

Correct Answer :-

« Sultan Shah Jehan Begum / gedl XI5 SIgT ST

6) Who founded the Ramakrishna Mission? / JTHH W = &) T foeee 12
1. Ramakrishna Paramahamsa / JHGWT TRAGY

2. Swami Vivekananda / @I [dd®Hg

3. Raja Ram Mohan Roy / TSl XM HigH 39

4. Sri Aurobindo / &1 3Rfd=<

Correct Answer :-

« Swami Vivekananda / TTHt fadere

7) Find the odd one out / T fqUH JTd PIfoTC;

1. BDEF
2. FGHI
3. STUV

4. MNOP

Correct Answer :-

8) Find the odd combination of letters and numbers from among the following: / fafafead A H&Iﬁ
3R T3 o1 faws g J1d B

i. 2075010 ii. 2075010 iii. 2075100 iv. 2075010

4. iii

Correct Answer :-



9) In a certain code language, mep zap dup means lunch and dinner, pep mep tep means hot and cold, clep
tep nep means very hot summer. Which is the word for cold in that code language? / U WTH IS HTHT ﬁ,
mep zap dup BT 3l d lunch and dinner, pep mep tep BT 3 & hot and cold TUT clep tep nep BT 3 )3 very hot

summer A1 & | T PIS HIUT H cold P forT 5 e &1 SxHTe fHar AT 22

1. pep
2. clep
3. tep

4. mep

Correct Answer :-

10) In a certain code language, I love cricket means Liv Da Bin; I love music means Bin Liv Zo; | play music
means Zo Bin Na. Which is the word for Cricket in that code language? / Tdh W HIS HIHT ﬁ, I love cricket
&7 31 Liv Da Bin; I love music 1 31 Bin Liv zo YT I play music P1 31 zo Bin Na _E?I?IT %I Y CARIIL|
¥ cricket ¥ T fory R1eg 1 SeawTa fovaT T B2

1. Da
2. Bin
3.20

4. Liv

Correct Answer :-

e Da

11) If ANIMAL is coded BPLNCO, then how is LAMINA coded? / A& ANIMAL Y BPLNCO | Sifed fomar

STl 8, 1 LAMINA ) $ Difsd forar SR
1. MCPIPD

2. MCPIQD

3. OCNMIPB

4. OCNLPD

Correct Answer :-

* MCPIPD

(%)



If CLINIC is coded ENKPKE, then how is DOCTOR coded? / Af& cLINIC B ENkPKE T Pifed foar SiTar g, at

DOCTOR P $A Hifsd far wram?
1. FQEUQT
2. FQEUQS
3. FQEVQT

4. FREVRT

Correct Answer :-
e FQEVQT

13) In how many ways can 5 red and 4 black balls be selected out of the 8 red and 6 black balls? / 8 ©T<T

3R 6 BTA T PI Tig) T 5 AT 3R 4 Ha Tl DI fhat AP & AT S Gl 82
1.720
2. 360
3. 840

4. 420

Correct Answer :-

« 840

14) In which year was the Environmental Protection Act passed in India / HIRd ¥ gafawor &1

sifafray fora o & wila gam ar
1. 1986
2. 1996
3.2014

4. 2004

Correct Answer :-

15) Whose memorial did Narendra Modi inaugurate on 27th July, 2017 at Rameswaran? /w?rem:r T 27

QTS 2017 B fHTd RS BT = AIGE 3 Sgure fHar ur
1. J Jayalalithaa / S Srdterdr

2. APJ Abdul Kalam / TS 3fsgd &
(6)



3. Kamal Hassan / hHI g9

4. P. Rangaiah Naidu / Ut BIRIS)

Correct Answer :-

« APJ Abdul Kalam / TGSl Sfog el hlH

16) Which organization was the first to develop a supercomputer in India? / HRd | URHTCY BT

faTa B 19T YUYW HIS BI AT Y12
1. C-DAC / Hl-S&

2. Infosys/_{qaﬁm

3. Wipro / oo

4. TCS / CHEITY

Correct Answer :-

. C-DAC/H-8&

17) Which of the following states receives the rays of the sun first in the morning in India? / yRd ¥ g

H q I 774 UTa: F gauuw T B 0l o) ured Bar 22
1. Tripura/ﬁ'ERT

2. Arunachal Pradesh / 3RSUITEA UGS
3. Sikkim / Rifdsy
4. Meghalaya / gy

Correct Answer :-
« Arunachal Pradesh / =0T EI%Q[

18) What is the maximum tax slab according to the new GST Act? / G \‘Jﬁ@?ﬁ fufFaw & SIR
SfRIHaH HI WG 132

1. 26%
2. 28%
3. 35%

4. 30%

Correct Answer :-

(7)



19) IAF's Sukhoi -30 fighter was originally designed and developed by / YR aTg'\ﬁm & '\ﬂ@'&f—%
asTE faur &) gad: feaq Fuifeq v fawRa feare

1. Japan / SITUTT
2. Russia / Y
3. China /

4, France / I

Correct Answer :-

¢ Russia/ g

20) Rani Durgawati is associated with / IT1 gﬂh?ﬁ S U A Halta &
1. Panna / 99l

2. Gwalior / TR

3. Jabalpur / STy
4. Rewa /dl

Correct Answer :-

« Jabalpur / SId[elgx

21) Parvathy Baul, Bhikhari Thakur, and Punaram Nishad are 2/ urd <t afa, e TR 3R
R fARIGE 2

1. Painters / RFHR

2. Folk dancers / @& -Tdids

3. Folk musicians / @& ATMABR
4. Actors / SITH=aT

Correct Answer :-

« Folk musicians / €l TIdBR

22) As per census 2011, the most densely populated State in India is / 2011 CASRULE KD SR, HRd

# aifire o=t Srrerdl arar s @

(8)



1. NCT of Delhi / IS IS8T & faeait
2. Sikkim / RifdwH

3. Bihar/ ]%E'R'

4. Pondicherry / W

Correct Answer :-

« Bihar/ S8R

23) ‘Bharat Ratna’ Awards was given for the first time in / ‘HRd ¥’ YREDPIR ﬂ’s’?ﬁ CIE3 e ad |
UM fhar mar Ur

1. 1956
2. 1952
3. 1957

4. 1954

Correct Answer :-

24) King Bhoj was a part of the ___ Dynasty. / ITSIT Tic) _ ITSTd R BT %‘F\‘IT q|
1. Satavahana / XddTeT-l

2. Peshwa / U@l

3. Paramara / YRTHRT

4. Saka / IThT

Correct Answer :-
¢ Paramara / URTHR

25) The President of India must have completed the age of / HRd & Tl'g'qﬁf P FAIAFH S E?F'ﬁ

1. 40 years / 40 Gl
2. 45 years / 45 Gl
3. 30 years/ 30 CL

4. 35 years /35 T4
9)



Correct Answer :-

e 35years/35dY

26) The Pehsari Dam is located in / tl?w qiY qﬁ R %
1. Ujjain / IO

2. Indore /gﬁ?

3. Gwalior / TTIeRIR

4. Bhopal / T

Correct Answer :-

« Gwalior / T@TCRR

27) The ex-officio Chairman of Rajya Sabha is / ITo HHT & gTaUTIA %
1. The President / QTgCIﬁ

2. Home Minister / 1[& T

3. The Vice-President / 34 Tl'gclﬁ[

4. Prime Minister / THTT H31

Correct Answer :-
« The Vice-President / 30 I¥Ufd

28) Shipra is a river that takes its origin from a hill called / o= 'CI%"ITSpf o= R =|€r$r IeIH 'Eﬁ?lT%,
EEE

1. Amarkantak Hills / 3R cdb UgTS!
2. Kakri Bardi Hills / Sl 94| UgTa!
3. Miizo Hills / ool TgTSY

4. Kewai Hills / a3 UgIa!

Correct Answer :-

« Kakri Bardi Hills / @ e! Ral UglS]

29) Find the odd one out: /Wﬁ'ﬂ'ﬁﬂﬁ?ﬂﬁ&’:

(10)



1. Feet and Shoes /ﬁ?ﬁ?ﬂqﬁ
2. Head and Cap / RR quradt
3. Dhoti and Chest / &l YT BTl

4, Hands and Gloves /BT?IH?‘ITEW]%[

Correct Answer :-

« Dhoti and Chest / ¢licil T BTt

30) In a game, a person is instructed to do the following, when certain numbers are called out:
For the humber 'one’, the person must put one apple into a basket; for number 'two’, he must put
one guava into the basket; for number 'three’, he must put one orange into the basket; and, for
number ‘four’, he must take out one apple and one guava from the basket.

The order sequence executed by the person is as follows.

12332142314223314113234

How many fruit will be there in the basket at the end of the sequence shown above? /

it Qe H, oI oo W =TT St Sl €, d U e B FEgaR &34 & R fiu s 7

I 'TF' & oY, i & B3 § T A9 I@AT F1eT; J=T 'S & Y, I TIdp H TP 3HFG
RGHT AIRY; BT A & g, 3T AH A T AN @1 A1eT; 9T |1 IR & forg, 39 e
A TH A9 T4 Th 3¢ 91g? FIpTa-n Infgu|

sfe gRT frenfea srgepe frrargar ©
12332142314223314113234

SR 3T TN S & oid & Sl & foba et gia?
1.13

2.11

3.12

4.10

Correct Answer :-

« 11

31) In which city is the world’s first partition museum located? / QﬁTQT T UgdT [qUTSH SUTead by
MR | A 72

1. Calcutta / bl

2. Hyderabad / %3? dic
3. Amritsar / 3{HdR

(11)



4. Delhi / feet

Correct Answer :-

» Amritsar / 3HdIX

32) Select the option that is true about the Statements and Conclusions given:

Statements:
Some calves are cows
Some cows are buffaloes

Conclusions:
I. Some calves are buffaloes
IIL. All calves are buffaloes /

I fawer &1 71 IR Sife iy Tyt ik el & aR & Tt @:

DY

PO DS T E

Ao

I 35 958 N9 8

1. 9t gog HN §

1. neither conclusion I nor conclusion II follows / = &1 T5HY I 3R =1 gt fISHY 11 SITERUI Xl &
2. both conclusion I and II follows / FT5BY I 3R 11 GIFT S{T¥RUI HRdl

3. only conclusion II follows / A 5HY 11 TRV BT &

4. only conclusion I follows / A 5hY I THRUT HT §

Correct Answer :-

« neither conclusion I nor conclusion II follows / = &1 fAspd 1 iR A Gl ey 11 SR B %

33) Select the option that is true about the Statements and Conclusions given:

Statements:
No flowers are blondes
All acrobats are flowers

Conclusions:
I. No acrobats are blondes
I1. Some flowers are blondes /

39 [y &1 Ig1 BT Sife T T8 =T ok et & ar # I8! 2

(12)



DYA:

ig W B wils 761 §

Tt ware pa g

A

I B3 W Sarar srs T8 8

II. $° Td &S &

1. neither conclusion I nor conclusion II follows / 7 81 6 1 3R 78 fspdf 11 SR A S
2. both conclusion I and II follows / ﬁﬁh_@fl 33? II Hﬁ:ﬁ S{TIRTT 37_{?[ %

3. only conclusion II follows / FHad sy 11 TR0 HdT g

4. only conclusion I follows / Had Y | ST FRATS

Correct Answer :-

 only conclusion I follows / Had ﬁ'@ﬂh STAR0] W%

34) Select the option that is true about the Statements and Conclusions given:

Statements:
No locket is pink
Some chains are lockets

Conclusions:
I. No chain is pink
IL. No locket is red /

I [qey &1 g9 BIFoE Siife 5T T U= iR syl & IR & 98t &:

HY:

IS i widbe Taret 761 &

e

I. ®1g ot SieiR et 78 @

IL. IS o diche AT TS &

1. neither conclusion I nor conclusion II follows / 7 81 FT&hY I 3R 7 & F1<hY 11 3{I¥RUI HRd §
2. both conclusion I and II follows / FT5HY I 3R 11 ST SITERUI o3l §

3. only conclusion II follows / Fad (5HY 11 TRV BT §

4. only conclusion I follows / Had F5HY I SFITRVI HRal §

(13)



Correct Answer :-

« neither conclusion I nor conclusion IT follows / =1 & ftewt 1 3R 71 gt fAewl 11 ST HA G

35) Select the option that is true about the Statements and Conclusions given:

Statements:
All friends of mine are talkative
Swapna is not talkative

Conclusions:
I. Swapna is not my friend
II. Swapna must speak /

39 AT ey T 999 SR Wi T U 1 3k fAepl & ar ¥ wet 8:
Y

¥ gt fory et §

T ST R ®

e

1. T 49 R T8 @

II. ¥9UT &1 91T 91feq

1. neither conclusion I nor conclusion II follows /7 &1 P [ 3R =1 81 F55H 11 SFI¥RUI Hvd &
2. both conclusion I and II follows / FISHY 1 3R 11 I SFTERUI Id &

3. only conclusion II follows / Had fSHY 11 SIHR0T HdT §

4. only conclusion I follows / HId (AR [ STERUI HRT §

Correct Answer :-

« only conclusion I follows / Had FHY [ TRV BT §

36) The series given below contains a sequence of numbers. Identify the incorrect combination: /
T2 &t 1€ g § GEATelt BT U e SUTRI &1 e SUIe Ugdng:

2,5,11, 23,46, 95

1. 11

2.95

3.5

4. 46

(14)



Correct Answer :-

37) Complete the series choosing the missing number: / &I HEAT JADR Yl E| Pl

PIfoTT:

55, 65, 85,95,115,
1. 135

2. 155

3. 145

4. 125

Correct Answer :-

e 125

38) Complete the series choosing the missing letter/s: / &l S&R/3MERT BT TADP Jgar Pl
TR BITeIg:

ab__aabb___ _bb__
1.b,3,3,a
2.b,a,b,a
3.3,b,a,b

4.3,b,b,b

Correct Answer :-

39) Complete the series choosing the missing number: / & &I YA YEAT Bt GRT DITOTT:
729, 243, 81, 27, ______

1. 15

2.3

3.9

4. 18

Correct Answer :-
(15)



« 9

40) Complete the series choosing the missing number: / T TG TAH YT Bl [T HHoIC:
0, 6, 24, 60,120,210, _

1.223

2. 336

3. 445

4. 286

Correct Answer :-

» 336

Topic:- Mental Ability and Mental Aptitude

1)
In the sequence shown below, which figure comes next? JArE 83 IR HH A AT BTﬁfi:ET Hid °r
HRER

g O A0 N Y

Correct Answer :-
L
)]

(16)



If the following two squares shown below overlap, which one of the following options is formed? / Afe

T 2 @91 Tocafug @9 & o B & ¥ i a1 v deeq adadr &7

Q21 S

(5

Correct Answer :-

Dﬂ

(17)



In the sequence shown below, which figure comes next? JArr B3 IR w9 B:I'I?f:'l-ﬁ i &7

raiit ralint Pl i Pl
., A PN S, Y : A £ A
: e ", X i ", e
{ : :k_\’\" rd ’l, !.r ..-’g "1 [r \\‘\ f‘/ ‘]lj r ) '\i
r"’??‘: ) RISl ! | ™ ||’ ",
VNS WIS AN N
S R e iy RS
1 1 151 v

4) |tcost 30 paiseto carpet a sg cm of a room. How much would be the expense for carpetingaroom 2 m

xdm?/ T HHL & Wil daAIEY o e & @ar 30 9 §1 dF 37 x 47N & &AL &
1. Rs. 36,000 / 36,000 ¥UA
2. Rs. 27,000 / 27,000 ST
3. Rs. 18,000 / 18,000 TTY

(18)



4. Rs. 45,000 / 45,000 ST

Correct Answer :-

« Rs. 36,000/ 36,000 UY

5) The marks scored by Rahul in English is 85, Hindi 95, Science 92, and Mathematics 95 out of 100 in
each subject. How much should Rahul score in Social Sciences out of 100 to get 90% in the Exam? / XIg¢1

RT 9T fha 1T 31, 100 & T §; <Y SRIeht A 85, fF A 95, fagm1 & 92 3fi 71 & 95 &1 5@ &t
T T 90% THIR B34 & g Jrariore fagm o e 8id @ gl

1.85
2.84
3.83

4. 82

Correct Answer :-

« 83

6) Two trains, 100 m and 120 m long, are running in the same direction at a speed of 64 kmph and 52 kmph,
respectively. How long will it take for the first train to cross the second one? / 100 . Gﬁ'\" 120 |, Gl 33[

o T fo=m & wuRm: 64 ftft/a. ik 52 frft a. 31 fa & e 36t &1 ugel &9 gt @l fovam
Y | UR P A2

1. 44 sec/ 44 @[
2.60sec/ 60@[.
3. 66sec/ 66 @[

4,55sec/55 @f

Correct Answer :-
e 66sec/ 66 '\Ef

7) Raghu buys a Nehru coat in Khadi Bhandar whose marked price is Rs. 150. If the discount allowed is 20

%, find the discount amount?/Tﬂ@T(ﬂ Wﬁwﬁwaﬁfaﬁm%ﬁwmqm 150 U
21913 39 W 20% Fe et € df ge ST g A e?

1. Rs. 30/ 30 308
2. Rs. 20/ 20 30T
3. Rs. 50/ 50 SUY

4. Rs. 40/ 40 ST
(19)



Correct Answer :-

e Rs.30/30 30

8) Ifx-y+z=6,4x-y-z=4,andz-y=2,thenx+y=?/tlfa'x-y+z=6,4x-y-z=4Gﬁi’z-y=2?ﬁx+y=?
1.5
2.6
3.10

4.9

Correct Answer :-

9) Three boys together have 82 marbles. The ratio of the marbles of Alan and Ben is 2 : 5. The ratio of the
marbles of Ben and Chris is 3 : 4. How many marbles does Chris have? / 3 T & U P82 aﬁ'%l T
3R 99 & Sl BT U 2:5 €, 97 3R FU & Dl DT AU 3:4 B 1 Y & UTH fbaq H21 82

1. 44
2.40
3.42

4. 36

Correct Answer :-

10) If 5 women or 9 boys can do a piece of work in 15 days, then in how many days will 20 women and 9

boys complete the same work? / Tfe 5 AfGAR T 9 TSP fhell FTH &Y 15 fTea A B € Y 20 Az
3R 9 TSP It P &I fHaq a7 # s3I

1.3
2.5
3.4

4.2

Correct Answer :-

* 3

(20)



11) A number is as much greater that 237 as is less than 547. The number is / T AT 237 I a1 ﬁ

TSI g AT A 547 A FHE, a8 TW@T ©:
1.392
2. 402
3.374

4.372

Correct Answer :-

e 392

12) The total strength of students in a school is 150. If the number of boys is x and the number of girls
becomes x % of the total strength, find the number of boys in the school. /W'\W’ﬁ ﬁmﬁh‘rﬁm
TBAT 150 31 TS ASH! D1 TBAT x & 3N ASH AT T Dt T AT BT x% ¢ dl WpdA & S| DI
|1 FrSi |

1. 50
2.90
3.40

4. 60

Correct Answer :-

e 60

13) Raja bought 1 kg of potato for Rs. 25, next day the price of potato increases by 10% per kg. What would
be the new price of 1 kg potato? / TSI 1 fHUT 31T 25 TUA A Wle = ATET 7, 3T A S &1 g
10% i<l fBU1.a¢ a1 1 fHHT SITe &1 =71 G &R B2

1. Rs.30/30 3030
2. Rs. 26,50/ 26.50 ST
3. Rs. 27.50/ 27.50 Y

4. Rs. 29.50/29.50 SUY

Correct Answer :-

« Rs.27.50/27.50 S0

14) Amit, Bhanu and Chintu are brothers in the same order as mentioned. Bhanu is double the age of
Chintu whereas Amit is two years older to Bhanu. If sum of their ages is 37 then find the age of Amit / Gl'ﬁ:l?l,

(21)



HTg 3R g AT T w0 & SR wig §1 4 9 oy fig @ S & e ofta Wi @ @ are
ST 8| afe IS g o1 AT 37 3 Y S1f¥ra &Y 3myg Farait

1. 10vyears/ 10 G
2. 16years/ 16 Ty
3. 12 years/ 12 ¥

4. 14 years/ 14 G

Correct Answer :-

e 16vyears/ 16 G

15) It rained as much as on Monday as on all the other days of the week combined. If the average rainfall
for the whole week was 5 cm, how much did it rain on Monday? / @Tﬁﬂﬂﬁ W% Wﬁ*ﬁ'%w
=T g3 1 afe IR Twars 1= &7 o 5 . 8, O WHaR & fara-t arie=r g32

1.5cm/5 @Iﬁ
2.17.5cm/ 17.5 9.
3.12.5¢cm/ 12.5 9.

4,30cm/ 30 @'Jﬂ

Correct Answer :-

e 17.5cm/ 17.5 THI.

16) Kiran's marks in different subjects were 43, 39, 51, 37, 39, and 49. What will be his average? / fafir

ol o fRuT &6t 43, 39, 51, 37, 39 3fIR 49 3T U §UI ST 3iTd fa=m ghm?
1. 44
2. 43
3.41

4.51

Correct Answer :-

17) A can do aworkin 12 days and B does the same work in 15 days. In how many days can both of them

together do the same work? / A T & &1 12ﬁ?ﬁm%,33?ﬁmﬁ lsﬁ?ﬁW%l It
P19 P g1 fraer fbaq fea d I &9

(22)



2 9
6—days/ 6= e
L3 3

1 1
2 6Eda}-sf 53 feer

1

3

6— days/ e@ﬁ—rr
3. 3

4.6 days / 6 fa=

Correct Answer :-
2 2
6= days/ 6=T&=
3 3

18) Two numbers are in the ratio 3 : 5. If each number is increased by 10, the ratio becomes 5 : 7. The
numbers are: / &Y TSN BT U 3:5 ¢ 1 TS Ul T& & 10 WS f&ar e &Y 9 ergura 5: 781
STar g 1 3 Y2 A |

1. 15,25
2. 18,30
3.12,20

4.3,5

Correct Answer :-

« 15,25

19) Ifin an organization 28.56 % of the employees are females, then what is the percentage of employees

who are males with respect to women? / e T e 28.56% HHARI 'FT[%ETQ %., ar ﬂ%ﬁT\’rﬁ &
AT T81 BT B3 arel ToUI 1 "&AT fpa- ufa=ra giil?

1. 50 %
2.71.44 %
3.250 %

4.82.4%

Correct Answer :-



20) How much time will a train moving at a speed of 450 kmph and 150 m long take to cross a platform of

length 100 m? / 150 TT. Tt Tep 3 S 450 fpei/d. 3t = & I I8 €, 100 W TR WeHd o
Fa R A IR BN

1.2 secs/ZQ.
2.3secs/3 @
3. 4secs/4 9.

4, 1sec/1“@f.

Correct Answer :-

. 25ecs/2@.

21) (483*483*483 + 517*517*517) / (517*517 - 517*483 + 483%483) =?
1. 1000

2. 23.4568

3. 5436948

4.1

Correct Answer :-

22) If the speed of a boat in still water is 20 m/s, and speed of the current is 10 m/s, then what is the time
taken by the boat to travel a distance of 6 km upstream? | RR S | T HAId &1 T 2093, % 3R YRT
Ft91d 10 WA, B 1 YRT 31 faudia fe=n & ¢ forht, Y gt 7 H== o 19 &1 fovaen awa @@

1. 10 min / 10 e
2.5 min/ 5 BT

3. 20 min /20 e
4. 15 min /15 f&FC

Correct Answer :-

« 10 min/ 10 e

23) If the cost price of 30 articles is equal to the selling price of 20 articles, find the profit percentage. / 30

TEg BT AN G 20 IRgeit & faera geg & TR1aR 81 a1y ufa=ma e s

(24)



1. 50%
2. 60%
3. 70%

4. 80%

Correct Answer :-
* 50%

24) In an examination, Shreya's average marks were 70. If she had scored 15 more marks in her Biology
paper and 5 more marks in her Civics paper, her average marks would have been 75. How many papers were

there in the examinaﬁon?/@ﬁ&ﬂﬁ, AT & 3N 3 70 %'I U%Gﬁ\_rﬂa-ﬁﬁﬁﬁ 15 9 YRR A
5 3 R Firerd € o Sud 3wl BT 3T 75 T oI | URten # fvamt wy-u=r =mfda g2

1.4
2.6
3.9

4.8

Correct Answer :-

25) Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ 7o 143 T aR vat 9 9 R @ T vd & S 90 19 91 T T8 82

Robert Adams
Zdebradska 56 - Jazlovice CZ-25101

Ricany, Czech Republic

(i) Robert Adams
Zdebradska 56 - Jazlovice CZ-25101

Ricany, Czech Republic

(i) Robert Adams
Zdebradska 56 - Jaslovice CZ-25101

(25)



Ricany, Czech Republic

(iii) Robert Adams
Zdebradska 56 - Jazlovice CZ-25101

Ricany, Czech Republic

(iv) Robert Adams

Zdebradska 56 - Jazlovice CZ-25101
Ricany, Czech Republic

1. iv

2.1

3.ii

4. iii

Correct Answer :-

o i

26) The ratio between the present ages of Rahul and Kunal is 7: 5. If after 10 years, Kunal
will 45 years old. What is the present age of Rahul? / g9 3R $HIA S IdHM T BT JUTd
7:5 81 10 T 9¢, $TA B Y 45 T4 ghift | Iga 1 T g fpa=it 82

1. 31
2.49
3.45

4. 35

Correct Answer :-

.« 49

27) What is the sum 75% of Rs. 1440 and 25% of Rs. 3360?/ 1440 303 & 75% 3T 3360
IUY &b 25% BT T fHd-T RI?

1. Rs. 2,500 /2,500 3T
2. Rs. 1,100 / 1,100 ¥TY

3. Rs. 1,460 / 1,460 ST
7 (26)



4. Rs. 1,920 /1,920 SUY

Correct Answer :-

e Rs.1,920 /1,920 30

28) The sum of two numbers is twice their difference. If one of the number is 10 then the
other number is: / & B3 HT TN I7F SR BT SR 81 T TN § | TH 10 & df gl T=M
8

1. 20
2.25
3.30

4.35

Correct Answer :-

« 30

29) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: /-'-ﬂ%aﬂg mﬁ, &R aﬁ?ﬂ@r&ﬁﬁrwmﬁﬂ%a%l WWU@W
i.woit4032iotw

ii.woit4032iotw

iii.woit4032iotw

iv.wceit4032iotw

4. iii

Correct Answer :-

30) Find the average. 13Nad e |
21, 26, 25,27, 29 & 28
1. 26

2.21
(27)



3.27

4. 29

Correct Answer :-

* 26

Topic:- Science and Simple Arithmetic

1)
3:-2  2t+3 2 . Je—-1  I¥3 2 e 3 3
—— == ;—t-Whatis T equalto? / = —— = — = T—¢t. @ t’ W & TR g
1.3
2. -2
3.2
4. -4

2)
How many cubes each of edge 6cm can be cut from a cuboid of 42em X 36cm X24em? / 42

THT x 36 THT x24 T orer TAsT H 6 THT BT el Thoe O IS ST Tohel 57
1.186
2. 134
3.168

4,143

Correct Answer :-

e 168

3)
AB is a chord of a circle with center O and #AOB =350° . Then £OAB = .} AB, O teg

orel goct T W Sftar & 3T LAOB=50°81 o LOAB=__

[+]

1. 65
(28)



o]

2. 55

[+]

3.50

[+]

4. 60

Correct Answer :-

[+]

e 55

4) In the given figure, AB || CD_If £ABO =45% and »COD = 100°, then #CDO = AT
aw &7 #, AB || CD. 9f¢ £ABO =45° g2 £COD = 100°, @ 2CDO = g

[+]

1.55

o]

2. 45

[+]

3.35

[+]

4,25

Correct Answer :-

[+]

« 35

(29)



The studentsin a class are divided into four houses. Red. Green. Yellow, and Blue. The
following graph shows the number of studentsin different houses from a class. What is the total

strength of the class? / U &l @ ©rET ® @4 T&AT oied, &Y, Yol o= <o & a@ie =ar 7@
Toteal 3@ TafEtee el & Tl T HEdT H GRicn &1 &l 9 Bl o 6l Tedl o 67

‘ O Mo, of students
1 TTET o HEEr

gl , — —
red Gragn e llow Blua

1.32
2.37
3.34

4. 36

Correct Answer :-

. 37

6)

(30)



7) Phloem is composed of four types of cells: sieve tubes, phloem fibres, phloem parenchyma and

= . / TIYATE IR UHR B! HHABTS I 471 § — Tt Ao, Tyarg dq, Gvare ggad
|

1. phloem collenchyma /@WQ@W
2. vessels / aIRHT

3. trachieds / Eﬁg

4. companion cells / TETR HITABY

Correct Answer :-

« companion cells / TEAR PIRTHIT

8) A sum was put at simple interest at a certain rate for 2 years. Had it been put at 3% higher
rate, it would have fetched Rs.72 more. The sum is: / T RIS 99 & ﬁ‘l’({ Th e g3 aremmur
ol TR YW TR | Afe T8 URIRI 3% 3HfUd a¥ TR 3l oI, af 72 %, &1 geiw) ot ol | gaea e g

1. Rs. 1200/ 1200 .
2. Rs. 9007900 %.
3. Rs. 1500/ 1500%.

4. Rs. 2000 /2000 >.

Correct Answer :-

« Rs. 1200/1200%.

9) Deepak purchased a certain quantity of rice at the rate of Rs.1200 per quintal in which 20%
of the rice was spoilt. He mixes the impurities to make it again that much quantity. At what price
should he sell the rice to gain 10%? / T 9 1200 3. Ufd Had I G R $S 990 W1, o0 A

20% TTTA IPR 81 TT| ST I8 TRT H & ford ITH Ferae o113 10% A1Y 3ifotd H1 & g
T gea W Tmad 9= B

(31)



1. Rs.12 per kg / 12 3. Ufd .
2. Rs.14 per kg / 14 . Ufcl foouT,
3. Rs.13.20 per kg / 13.20 . Ul fa3.
4. Rs.20 per kg /20 %. Ufd .

Correct Answer :-

« Rs.13.20 per kg / 13.20 . Ufcl foa.

10) Tron used in constructing a building is coated with a layer of zinc. This helps iron to: / Th

TAR & o § swaHTa fopan S a1er g Sl &1 T URd 9 Afid frar Srdr g1 98 &@ie ot
Hec BT &:

1. Prevent corrosion and rusting / &R 3R S fFaRur
2. Make it Iighter/B@WWﬁ
3. Look attractive / 3T fa o
4. Become stronger / ﬂ\?laﬁa:lefff

Correct Answer :-

« Prevent corrosion and rusting / S&RUI 3R S AR o

11) Which of the following is cube of even natural number? / =1 & & B9 Wt T T4 WiHias
S BT 9 52

1. 13826
2.514
3.728

4, 1000

Correct Answer :-

« 1000

12) Which of the following ends with digit 1? / =1 ¥ & &7 H= @1 Sifed 8w 1 g2
1. 1092

2. 822
(32)



3. 1232
4.77%

Correct Answer :-

. 1092

13) The ratio of two sides of a parallelogram is 3:5 and its perimeter is 48m. The sides of the
parallelogram are: / T THiaR IgYS BI gt YoTI3il BT ST 3:5 TUT THDT UINATY 48 Tl § 1 AHIAR
Tgye ot yomg = €

1.9mand 12 m /9 ©1. T 12 =,
2.9m and 15m /9 . Uq 15 91,
3. 6m and 10m /6 HI. Td 10 H.
4, 12m and 15m/ 12 ©I. T9 15 H.

Correct Answer :-

e 9mand 15m/9 Ht. w4 15 .

14) What is the remainder obtained when x> - 6x + 11x — 6 is divided by X2 —4x+3?/afex3 -
6x% + 11x — 6 BT x> — 4x + 3 H Taurfora fovar wme o vwe = 32

15) The process of seeping of water into the empty spaces of ground is called ./ oHIE & feaa

REATHI SR Fufpmast Feadl
1. depletion / 3I&T
2. infiltration / 3

3. conservation / TR&[0T

(33)



4. rainwater harvesting / EI'EITGI?’TH‘/'I%'UT

Correct Answer :-

« infiltration / 3G

16) The disease which is not infectious is: /ﬁm—rﬁwqﬁ%
1. Cancer/ PR

2. Pneumonia /?Iﬁhﬁ'[ﬂ
3. Common cold /HTHIF $[dhTH
4, Cholera /%Gﬂ

Correct Answer :-

. Cancer/arr\‘:ﬂ

17) Which of the following is NOT an organ? /AR B GFT:I_G&%"

1. Heart/ §ad
2. Brain / AfKTSH

3. Liver / gd
4, Muscle/el'Qﬁ

Correct Answer :-

e Muscle /ﬁﬁ!ﬂ

18) Which one of the following function of epithelial tissue does NOT match? / SUD I bl &

BT A B I Th P SJUY 82

1. Lining of kidney tubules is made up of cuboidal epithelium./ dd& P Bl AR BT MERIATHR ITHAT

&1 I g
2. Lining of blood vessels is made up of squamous epithelium. /WHT%WG?I BT TR Weh! SUBTT I T

Bl gl

3. Lining of small intestine is made up of stratified epithelium. / BT A BT a{wﬁﬁmﬁrw@m
gl

4. Epithelial cells with cilia are found in respiratory tract of our body. / JHE Yad IUch Tl m Eﬂ]}\f IRR

1 ZargTel § UrE o ]

Correct Answer :-

(34)



« Lining of small intestine is made up of stratified epithelium. / BT 3T BT ARARTNT UGN Y §41 gl

gl

19) Plants with soft stems are called: / A a9 9T Ul &1 BT SII4T &:
1. Tree / 9&
2. Tendril / 9d=

3. Shrub / TSt

4. Herb / R

Correct Answer :-

20) The area of a trapezium is 1586cm? and the distance between the parallel sides is 26cm.
If one of the parallel sides is 38cm, then the length of the other is: / T® THd BT PELTI

1586912 § T [HIaR Yoreil & 7y g3t 26 AT 31 afS TH wHieR Yo 383t B, @ gt Yo ot
darg e gl

1. 64cm / 64 Tt
2. 160cm / 160 IH
3. 122cm / 122 9HY

4. 84cm / 84 THY

Correct Answer :-

« 84cm /84 THT

21) Which of the following are physical changes? / 15 & & @1 9T T® Wifa® ufvad= 82
i) Rusting of iron / &g &1 ST

ii) Combustion of magnesium ribbon / AW a1 &1 g8+

iii) Cutting of fruits / @l ®T BT

iv) Boiling of water / S &T IgaT

1. (iii) and (iv) only / R (iii) T (iv)

2. (ii) and (ii) only / T (ii) a7 (i)

3. (i) and (iv) only / R (i) 9T (iv)

(35)



4. () and (i) only / &% () a1 (i)

Correct Answer :-

« (i) and (iv) only / T (iii) TUT (iv)

22) Compound X is used for white washing and it reacts with water vigorously to form Y. X

and Y are: / Q1% X &1 IUGRT Y18 & T a1 8, 94T 98 5 & 1Y aarar 3 ifufshar s Y &1
ol srar g, xaury &

1. Mg (OH ) ,: MgO
2.Ca(OH),:Ca0
3.MgO : Mg (OH) >
4.Ca0:Ca(OH) >

Correct Answer :-

e« Ca0D:Ca(OH) >

Lock at the expression below:

4348 x 999 = 4343152 Which of the following expression is equal to 1212 x 3337
| ToFa s & ol

4848 x 599 = 4843152 TaFT & & Hid IO Sald 1212 X 333 & G &7

1 48431352 x 12

2. 4843152+4
3. 4843152+ 12

4, 48431523

Correct Answer :-

e 4843152+ 12

24) A shark swimming in the ocean illustrates: / I AR Teﬂ Uh P qg ﬁE’Rﬁ %:
1. Drag/ YU

2. Static friction / Rfae geo

(36)



3. Sliding friction / T gefoy
4. Rolling friction / S gyup

Correct Answer :-

. Drag/m

25)
Give the correct sequence of events occurring in the beginning of a new life.
i} formation of gametes
ii} formation of zygote
iii} fusion of male andfemale gametes
iv} embedding of embryo inthe wall of the uterus
} HEAHT BT AC SAdd & R 7 g diell Hol H adsv|
i) AFAE I AT
i)y  Ssdite & AT
iy A Ud HET GIHABT I [l
i) Fer @ @ifcd # e7oT @ Siaraa
1., iii, iv, ii
2.1, iii, ii, iv
3.1, ii, iv, ii
4. i, ii, ii, iv

Correct Answer :-

o i, iii, i, iv

26) Electromagnets are used in: / %g‘qﬂ-gmaﬁ T ITART 1 | o sran %:
1. Amplifiers / TEATPRR

2. Transformers / gmu»“fth |

3. Electric bells / ﬁg&ﬁ gl H

4. Refrigerators / Ifpored o

(37)



Correct Answer :-

« Electric bells / f[dgga @¢1 &

27) The least dense planet having density less than that of water is: / 3[cUdH JY Uz, oras guar sia
P ggaard N eu g, A= e

1. Jupiter / qewi%r
2. Neptune / W

3. Uranuslw
4, Saturn /QTE[

Correct Answer :-

e Saturn / EE]

28) To which division of Cryptogams do Algae belong? / Q?ﬁ (‘\ﬁ?ﬂﬁ) freim & frg SIHRT T Hefia %?
1. Thallophyta / ﬁaﬁtmsa

2. Angiosperms / Qﬁr@@lﬁ

3. Gymnosperms | e

4, Bryophyte / STAIHISC
Correct Answer :-

« Thallophyta / ﬁ?ﬁﬂﬂsa

29) 1f4x 2y = 24x+10 (pen v is equal to: / TfG 4¥*2Y = 24 + 10 G y BT W f P RIS B:

3.-3x

4, 3x

Correct Answer :-
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30) An ecosystem includes: / TRfRufaeT a3 | =1 =i Eﬁ%f %

1. Non-living objects only / rad fAsifg a¥qq|

2. All living organisms only / Had AT Foild Uil

3. Sometimes living organisms and sometimes non-living objects / -t Iofig wrol qur Hi-eH fHeifa
au|

4. Both living and non-living objects / BEICKUINE T aﬁq S|

Correct Answer :-

« Both living and non-living objects / Tollg qur fsifa CRSIY gl

(39)



